101Pd

Z =46

N =55

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 864.647 ( 0.005) MeV
Qbeta+ = 1.980 ( 0.007) MeV
Energy T J+ J- J-other T1/2
101PD 1 | 0.000 5/2+ | I 1 8.47 H 6
101PD 2 | | | 0.080 (3/2)+ 2 4.8 NS 5
101PD 3 | 0.261 7/2+ | | 3
101PD 4 | | | 0.275 (7/2,9/2+) 4
101PD 5 | 0.400 1/2+ | | 5
101PD 6 | | | 0.588 (7/2+) 6
101PD 7 | | |  0.600 3/2+,5/2+ 7
101PD 8 | | | 0.624 (7/2+) 8
101PD 9 | 0.667 9/2+ | | 9
101PD 10 | 0.730 1/2+ | | 10
101PD 11 | | | 0.735 (7/2+) 11
101PD 12 | | | 0.745 12
101PD 13 | 0.939 11/2+| | 13
101PD 14 | | |  0.980 3/2+,5/2+ 14
101PD 15 | | | 1.082 3/2+,5/2+ 15
101PD 16 | | | 1.174 (7/2)+ 16
101PD 17 | | | 1.199 17
101PD 18 | | | 1.205 (7/2+) 18
101PD 19 | | | 1.250 3/2+,5/2+ 19
101PD 20 | | | 1.266 (11/2+) 20
101PD 21 | | 1.337 11/2- 21
101PD 22 | 1.380 1/2+ | | 22
101PD 23 | 1.403 13/2+| | 23
101PD 24 | | | 1.535 (7/2+) 24
101PD 25 | | | 1.561 (7/2+,9/2+,11/2+ 25)
101PD 26 | | | 1.615 26
S-alpha= 1.737 ( 0.005)-—————-—-—- Rt
101PD 27 | 1.817 15/2+]| | 27
101PD 28 | | | 1.824 28
101PD 29 | | 1.893 15/2- 29
101PD 30 | | | 1.933 30
101PD 31 | | | 1.982 31
101PD 32 | | | 2.042 (7/2+,9/2+,11/2 32+)
101PD 33 | | | 2.050 1/2-,3/2- 33
101PD 34 | | | 2.063 (15/2+) 34
101PD 35 | | | 2.141 (15/2+) 35
101PD 36 | 2.207 17/2+| | 36


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=101Pd
https://www.nndc.bnl.gov/ensdf/
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gap 2n = 1.224 ( 0.008)
gap alpha = 0.410 ( 0.007)



